Mean
S.D.

X2
p-value
Constant
R

R2

B

SE B

913

(Chi-square test)



(N = 913)

(%)

(N =411)
11(1.2)
32 (3.5)
33 (3.6)
22 (2.4)
13(1.4)

24 (2.6)

(N =222)
11(1.2)
28(3.1)

33 (3.6)

(N = 280)
35 (3.8)
22 (2.4)

41 (4.5)

(%)

11(1.2)
33 (3.6)
33 (3.6)
22 (2.4)
14(1.5)

23 (2.5)

13(1.4)
29 (3.2)

34 (3.7)

35 (3.8)
20 (2.2)

38 (4.2)

(%)

15(1.6)
31 (3.4)
34 (3.7)
22 (2.4)
14(1.5)

23 (2.5)

11(1.2)
28 (3.1)

35 (3.8)

38 (4.2)
15(1.6)

36 (3.4)

26

(%)

37 (4.1)
97 (10.6)
100(11.0)
66 (7.2)
41 (4.5)

70 (7.7)

35 (3.8)
85 (9.3)

102(11.2)

108(11.8)
57 (6.2)

115(12.6)



2
(N=913)
14
15
16
17
18
Mean (S.D.)
(N=904)*

155
156- 165
166- 175

175
Mean (S.D.)

(N=905)*

45
46-55
56 - 65
66-75

75

Mean (S.D.)
* N 913

I (%)

14(3.4)
121 (29.4)
141 (34.6)
106 (25.8)
29 (7.1)

16.1 (1.02)

51 (12.6)
170 (42.0)
131 (32.3)
53 (13.1)

165.3 (8.98)

86 (21.2)
185 (45.6)
95 (23.4)
23 (5.7)
17 (4.2)

53.4(10.19)

I (%)

9(4.1)
69 (31.1)
67 (30.2)
65 (29.3)
12 (5.4)

16.0 (0.99)

47 (21.3)
142 (64.3)

32 (14.5)

160.3 (5.42)

74 (33.3)
103 (46.4)
34(15.3)
6 (2.7)
5(2.3)

50.0 (9.05)

27

I (%)

12(4.3)
73 (26.1)
99 (35.4)
85 (30.4)
11 (3.9)

16.0(0.96)

3(1.1)
42(15.1)
188 (67.6)
45 (16.2)

170.7 (5.65)

25 (9.1)
99 (35.9)
85 (30.8)
44(15.9)
23 (8.3)

59.0(10.90)



913

I (%) I (%)
I (N=900)*
302 (74.2) 124 (56.4)
105 (25.8) 96 (43.6)
(N=911)*
371 (90.5) 171 (77.4)
) 39(9.5) 50(22.6)

28

I (%)

212 (76.0)

67 (24.0)

234(83.6)

46(16.4)

(X2= 27.8, p< .001)

(X2= 20.4, p< .001)



29

4
I (%) I (%) I (%)
(N=909)*
2.00 112(27.4) 43 (19.5) 30(10.8)
2.00 - 2.49 121 (29.6) 37(16.7) 50(17.9)
2.50-2.99 86 (21.0) 35(15.8) 58 (20.8)
3.00-3.49 63 (15.4) 53 (24.0) 58 (20.8)
3.50-4.00 27 (6.6) 53 (24.0) 83 (29.8)
(N=894)*
2 (0.5) 4(1.8) 5(1.8)
101 (25.5) 62 (28.4) 69 (24.6)
/ 169 (42.7) 77 (35.3) 103 (36.8)
124 (31.3) 75 (34.4) 103 (36.8)
(N=905)*
6(1.5) 5 (2.3) 6(2.1)
157 (38.6) 87 (39.9) 89 (36.8)
/ 127 (44.3) 65 (29.8) 91 (32.5)
117(28.7) 61 (28.0) 94 (33.6)
* N 913
4
2.5
35 (X2 = 101.1, p<

.001)



1,500
1,500-2,500

2,500

I (%)

(N=913)

(N=909)*

111 (27.4)
212 (52.3)

82 (20.2)

92 (23.7)
34 (8.8)
39 (10.0)
172 (44.3)
13 (3.3)
12(3.1)

26 (6.7)

(N=897)*

46(11.4)
18(4.5)
18 (4.5)
151 (37.5)
11 (2.7)
109(27.1)

49 (12.2)

I (%)

49 (22.6)
121 (55.8)

47 (21.7)

34(16.1)
9 (4.3)

14 (6.6)
121 (57.3)
8 (3.8)

2 (0.9)

23 (10.9)

27 (12.4)
8 (3.6)
9(4.1)
88 (40.3)
4(1.8)
55 (25.2)

27 (12.4)

30

I (%)

71 (25.5)
139 (50.0)

68 (24.5)

40 (14.5)
19 (6.9)
38(13.7)
151 (54.7)
9 (3.2)
3(1.1)

16(5.8)

41 (14.8)
9 (3.2)
15 (5.4)
99 (35.7)
11 (4.0)
75 (27.1)

27 (9.7)



5( )

5,000
5,000 - 9,999
10,000-14,999
15,000 - 20,000

20,000

5,000
5,000 - 9,999
10,000 - 14,999
15,000 - 20,000

20,000

*N 913

20,000

15,000

I (%)

(N=871)*
16(4.1)
25 (6.5)
62(16.1)
67 (17.4)
68 (17.7)

146 (38.0)

(N=899)*
103 (25.6)
39 (9.7)
69(17.1)
63 (15.6)
53 (13.2)

75 (18.6)

(X 2= 33.6, p= .001)

I (%)

2 (0.5)
8 (3.8)
22 (10.5)
27 (12.8)
46 (21.9)

105 (45.0)

59 (27.0)
17 (7.8)
17 (7.8)
25(11.4)
40(18.3)

60 (27.5)

(X2= 28.9, p= .001)

I (%)

4(1.4)
5(1.8)
34(12.3)
45 (16.2)
58 (20.9)

131 (47.3)

68 (24.4)
15(5.8)
27 (9.7)
46 (16.5)
50(17.9)

73 (26.2)

1,500-2,500



39
40 - 49
50-59
60

Mean. (S.D.)

(N=791)*

(N=837)*

I (%)

) (N=913)
66(16.1)
163 ( 39.7)
112(27.3)

70(17.0)

120 (34.9)
80 (23.3)

144 (41.9)

(N=913)*
306(74.5)
69 (16.8)

36 (8.8)

33 (8.9)
218(58.8)
104(28.0)
16 (4.3)

47.1 (6.20)

I (%)

20 (9.0)
72 (32.4)
67 (30.2)

63 (28.4)

67 (33.3)
48 (23.9)

86 (42.8)

194(87.4)
13 (5.9)

15 (6.8)

9 (4.4)
114(55.3)
73 (35.4)
10 (4.8)

48.4 (5.85)

32

I (%)

34(12.1)
103 (36.8)
92 (32.9)

51 (18.2)

90 (36.6)
58 (23.6)

98 (39.8)

249 (88.9)
21 (7.5)

10(3.1)

13 (5.6)
152 (65.2)
58 (24.9)
10 (4.3)

47.5 (5.61)



6 (

39
40 - 49
50-59

60

Mean. (S.D.)

40-49

(N=866)*

I (%)

78 (20.1)
267 (68.6)
43 (11.0)
1(0.3)

43.5 (5.04)

I (%)

23 (10.7)
153 (71.2)
37(17.2)
2 (0.9)

44.9 (5.11)

33

I (%)

38(14.5)
185 (70.6)
38(14.5)
1(0.4)

44.4 (4.80)



= 0.14)

N=404
Mean(SD.)

27 3(6 96)
42 )

N=216 N=271  p-value
Mean(SD.) Mean(SD.)
27.3 (6.31) 28.3 (6.29) 0.14

(ANOVA ,F = 1.95, p-value



35

8
Regression Analysis
B SE B P p-value
BODY -2.6 0.78 -0.17 0.01
GPA 3 3.9 0.96 0.21 P <.001
GPA 1 2.0 0.77 0.13 0.010
L1 -1.6 0.72 -0.11 0.029
FOCCU 5 -3.9 1.93 -0.10 0.045
N =411, Constant = 27.63, R = 0.303, R2=0.092
5
(BODY) 3.00-3.49 (GPA3)
2.00-2.49 (GPA1) 5(LY)
(FOCCUS) 5
9.2 05

Y = 27.63-2.6B0DY+3.9GPA3+2.0GPA1-1.6L1-3.9FOCCU5

Zyv  0.17 Zbodyt0.2 17378+0.13 "GPA’ 0 11Z1%:0.10ZR3L b

’ 3,00-349 (GPAY)



9
BODY
DISEASE
FMONEY 5
MARRY 1
(BODY)
20,000
(MARRY ) 4
13

-2.0
-2.9

1.8

(FMONEYS)

Regression Analysis
SEB p
0.88 -0.16
1.07 -0.19
0.87 0.14
1.80 0.15

36

p-value

0.025
0.007
0.045

0.037

N =222, Constant=27.64, R =0.301, R2=0.091

(DISEASE)

91

Y =27.64- 2.0BODY - 29DISEASE + 1.8FMONEY5 +3.8MARRY1

0.17Zbody —0.19Z0FAF+ 0-14Zmoney5+0-15Z MARRYL

9

(BODY)

(DISEASE)O



10
B

BODY 4.4
SCHO012 2.9
FMONEY 2 2.2
MOCCU 2 -3.8

1 (BODY)

5,000 - 9,999
- (MOCCU2)

16.9

Y =28.60-4.4BODY+2.9SCHN012-2.2FMONEY2-3.8MOCCU?2

Regression Analysis
SEB
0.84 -0.30
0.74 0.22
1.09 -0.12
1.55 -0.14

p-value

P <0.001
P < 0.001
0.044

0.014

37

N = 280, Constant = 28.60, R = 0.411, R2= 0.169

(FMONEY2)

4

.05

(SCHO012)

Y 0.30ZB00,}-K).22Z SCH\X2-0. 12ZAVDNEY20.14 Z MOOOR

10

(BODY)
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